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What Is It Called When a Giraffe Swallows a Toy Jet? 50
Write each equation in slope-intercept form, then find your answer in the rectangle "
below. Write the letter of the answer in the box containing the exercise number. \ -
02x+y=5 e—7x+y=—2 e4x—y=—1 /;
°—3X+2y=8 6—X+3y=—12 @—5x—2y=18 O
08x—3y=—9 @9y—2x=0 e7x+2y—3=0
ey=%x—2 °y=%x+4 Gy:——g—x+%°y=7x—2
my=%x—4 °y=—2x+5 0y=%x+3 Qy:%x—g
o)
0y=%x @y:-%x+4 °y=4x+1 ey=—%x—9
J

Write each equation in slope-intercept form, then use the slope

and y-intercept to graphit. The

graph will cross a letter outside the grid. Write this letter in the box containing the exercise number.

@2x+y=1 0—3x+2y=—4 @x+3y=9
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